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Please make sure that the pnnted pages m thIS questwn paper are 8 in number and

it contains 20 questions.

. Sy ﬂ??w#w#m?ﬁ#q##gwaﬁwaﬁ?w#g@gﬁ wRE

The Code No. on the top of the question paper should be wn,tt_en. by, the candidate
on the front page of the answer-book.

- Wwvwmwgﬁwﬁﬁmmﬁwwmaw;

Before begmnmg to answer a questmn, its Sena! Number must be written, .. . .~
Don’t leave b!ank page/ pages in your answer—bnak S o B iy

. W%W%ﬁmfﬁaaﬁﬁﬁvmmmﬁﬁ@mﬁ%ﬁ‘&ﬁ?ﬁwm?

Fe)
Except answer—boak no extra sheet will be given. Wnte to the pmnt and do not
strike the written answer.s; @iy et e onsl s o 855800 sniiesal)

] w?m?mﬁﬁ:faﬁv—wwmwﬁﬁ;ﬁaﬁa%eﬂ%ﬁaﬁm—wwwg@sﬁq
Wﬁ??ﬁ%ﬂ?ﬁ#%aﬁﬁwﬁ?ﬁmwmﬁﬁﬁﬁvm S804

,;;:__ Candidates must write their Roll No. on the questmn paper Except Rnl! No. do not
write anything on question Pﬂper and don't make any mark on answers c:nf objective:
type quE'SﬁﬂnS > LY 1Y B &Y ._{h; o 1_3.1.’.'. :
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(2) 2328

- Wﬂ?#%aﬁrﬁ#géﬁggﬁf?ﬁwé‘%ﬁ?ﬁ'ﬁaaﬁ% giEr d I F
TTY 7 &3 5 qmEr &hare 78 frar s

Before answering the questions, ensure that you have been supphed the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

AH [735T
(i) @ F9T et &
(it) §F F9F-TH § FT 20 597 &
(i) 7 &Er 1 7 1-1 57 3 U= (ixv) Fghe w7 arame &
(iv) 797 &Ew 2 99 T% SIA-Tg FTOT T & T T 9 2 oFFH F Bl
(v) F97 &5 10 @ 17 ﬁ?ﬁgaﬁﬁ?ﬂ?ﬁr?ﬁ&?mﬂ?ﬁ's H H &l
(vi) 797 GZIT 18 & 20 T% FF FTOT 597 & T go 97 5 S7H F &

- (vii) ﬁ?%wﬁﬁww#%?s‘ﬁ%wﬁ?ms af#ﬂ:ﬁmﬁa???w#ﬁaﬂwm
mmﬁww?z@#wﬁ##aﬂwmwﬁﬁ?m% ~

(um}%ﬁ’ﬁ??"?}mﬁw:@?%

General Instructmns

(i) All questions are compulsory.
(i) There are 20 quesﬁuns in all.

(111) Questmn Nos. 1 1s DbjE‘CfIUE’ type questmns It cnnsrsts Df f' fteen (i-xv)
quesnﬂns of 1 mark each - it | |

" (iv) Questmn Nﬂs 21t9 are very shﬂrt anawer type quesﬂﬂns and carry 2 marks

ieach asies s : 5 . -
(v) Question Nos. 10 tc:a 17 are shurt answer type questmns and carry 3 marks
_each. _ Ak . .
(vi) Question Nos. 18 to 20 are long answer type questmns and carry 5 marks
each ' | S

(vii) There IS no overall Chﬂ!ce However internal choice is gwen in all three long
answer type quesnans and carry 5 marks each. Yc:-u have to attempt only

.one of the given choice in Such questions.

(Um) Use of Ca!culatar is not permitted.
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(g )
(Objective Type Questions)

L () a9 W o & s o 96 #1 o SeRia #Rar | 1
(A) THY B) T ' |
(C) o (D) T
Slope of displacementftime ograph in straight line motion represent :
(A) time (B) distance -
(@) Vﬂlﬂclty (D) acceleration

(i) 50%560 A cb@r%%‘ﬁﬂlqvg K kﬂhgﬁ%%ﬁrﬁﬁﬁaﬂﬁm%‘{“\%%‘l

‘sﬂ%qﬁvrrﬂi’rwcblm-i% 7 | ) 1
A) 10 & - (B) 110 f‘@? |
(©) 3000 Fg D) ™=

50 N and 60 N fnrce$ are actmg 1n,_\apﬂ51te d‘lr*actlpns at a pmﬁ;t Their
resultant force is :

(A) 10 Newton (R) ],10 Newtﬂn
(C) 3000 Newton (D) Zem /

(i) Wq@wﬁzoﬁﬁm%ﬁzﬁmaﬁﬁ%mww%wﬁmam.

el B g7 T B (g = 98%/%/)/

L - N e B} .5 . ;
AR }_l_.__ | vis snflLt VAR Sy ; r Pl . e
(C) "D - (D) T[H _

... A force of 98 N is just able to move a block of . mass/20 kg on a/rough
horlzc}ntal surface. Coefﬁment :::-f Fru:tmn 1S (g 9.8 m sec2} ‘
@) 4 o o o (B) .5 ot 5
g g ot g - D) Zero " P Femm

i) qﬁmmmwaﬁmmmamwm%m e
(A) A - - (B) ol

R 2 . (D). AR

When the momentum .of body "is increased by two tlmes 1ts Kinetic
Energy becomes : T

(A) Twice. G W Hal\f

(C) Four times &l (D) -Nine ume‘s
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(v) T M T B399 R & 90 & &8 9 o aid o9l ad & qodd oty & Ui
agﬁiﬁﬂgﬁ;% 1
(A) MR? (B) %I’VIRQ
©) ZMR? D) 2MR?

M 1s mass and R is radius of circular ring. The moment of Inertia about
an axis and perpendicular tc: plane is :

(A) MR? B) MR?
©) Z£MR? o ef D) 2MR?
(vi) AR (P, THGH (x) T BN AT (o) F G B 1
- w P=3 . (B) .P=to #0000 (0
. =_% e o3 gt
RelatitnEetwetn Power( D), Tortie o and Angular ve1ar;1w (m} is -
A} B B 04
@ P'_% Ask ol 2 D) s e S ok
(vii) qﬁg?@%aﬁwmmﬁgﬂ?ﬁ% ﬁmwmﬁﬁmwaﬁﬁ
GEll _ %

If the earth revolves around the Sun in mrcular Drblt then what would. be
the work done by the gravitational force ? :

(viii) TR ¥ SER-HE F IG 'E?I?lT g7 | _ gt
_ Why are high tides and low tides in the sea ? ' d
(ix) Wﬁﬁmwﬁmﬁmmﬁﬂqﬁmﬁam%? LH AR

Which thermodynamical  variable is defined by the ZE:I'Dth law c:-f
thermodynamics ? .

(X) @wm%aﬁmaﬁaﬂ%aﬁqﬁwmwﬁmaﬁ ﬁrw%
AT @ A fhaer & ? 1

What will be the value of the time period of a S1mple pendulum if the
amplitude is reduced to half of its original value ? Sk TRALE
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(5) 2328
(xi) T FEEis (R) B SI A a9 ¥ 7 1
What is SI Unit of Gas Constant (R) 2

(xii) th@ﬂWﬁBﬁr%ﬁwwﬂﬁmWW@Tﬂ? :

How much will be the Kinetic Energy of a gas at the absc:lute zero ?

(xiiiﬁﬂﬂwﬂww%%@%aﬂqﬁwaﬁﬁﬁﬁﬁwwéﬁ%? 1
What is the number of degree of freedom of a molecule of a monoatomic
gas 7

(ﬁv}%%aﬂ’ﬁﬁi@rﬁmmww%ﬁ@ e 1
Write the relation for pressure by kinetic theory of gases.

(xv) ﬁ‘“ﬂ‘qlﬁ%%@faﬁlﬁmwﬁﬂﬁmﬁ@w&gwwm? 1

What will be the ratio of fundamental frequencies of:an open and closed
organ pipe of same length ?

(ﬂﬁr—ag SRR l;la;r)
(Very Shurt Answer Type Questmns)

< F=a+ bx, mpwaxgﬁ%ﬂaabaﬁmwﬁml ) 2
In a relation F = a + bx where F is the force, x is thé distance. Calculate
dimensions of ﬂ. ﬂnd b. %2 ;* #I*I f - ﬁ‘h‘“_ B cyiR

Waﬁa4rﬁagﬁﬁwsﬁawaﬁa¥r{w%ﬁmaﬂ@rgﬁ Erﬁreih'gaﬂ?{

-Brﬂﬂﬁmaﬂ%aﬁamaﬁﬁﬂégﬂﬁmmw mﬂaﬁfﬁ?ﬂl

A man walks 4 m East, then S m North, then taking a nght turn walks 8 m
straught Calculate the dlstance travelled by the man and 1ts d1splacement

4 - . a . T
A S e T el Ay = R =, T e o o i e et . e e Wi ST 0
. : ¥ 3 IE:IaI - ;».'.I.:'- A e i-?_-:-.":-f.c‘ v L R RS M8 T ) Aok S TR R P B 33 LR R
. - - b Ryl : AN G RS St ol PR 18 2 2 11" LR
" - 5 . & e ¥ 1 [} J
= . -p - . i = i

Write parallelogram law of vectdi:' additinn.' |

]
e
H ¥
N ey
™
N

Explam the Newton's Second Law of motmn P N e R

2 - Lt -.- . 4_-_ thedrem_ F : 5 .- I‘ : x . % : : L rn s Ll o i
Wnte the Wﬂrkenerig . EAEE T P T et O J-I}_i;_.',-Q"-:_ : ','I ..;_',“.':a:.;iﬂla‘.!..-.
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7. 17, Qwasm%aﬁeweeumﬁ@%ﬁam ew%wweﬁfﬂﬁ

S @R B, AN o s’eﬁﬁﬁrﬂ%go&we%[mﬁﬁ&ﬁm%ﬁ | 2

A

0, 0}' “X

Locate the eentre of maee[C) ef a eyetem of three pe.rtlelee ef masses 1 grem
2 gram and 3 gram plaeed at the eernere ef a equllateral Lr1er1g1e of 1. metre side :

s

8. gﬂﬁﬁtr ﬁaﬁﬁ m EbDr Qﬁem a“rﬁm oy st o T DOA S AQBEOL Hap
s Deﬁne Gravltauenal Petentlal Energy |

e e e 27 o b Bobp pad |
Write Paseal*s_l_aw | eal B e :
" : T 1) BTl ‘-';_'l 1;11 (a.g Gﬂ-ﬂq q-a-'—_l-) . N A ol e :
(Shnrt AHSW“ TYPE Questmns) b AR R R
10. Q%ﬁﬁ?ﬁuﬁrxeﬂeeﬁﬁﬁq‘i q, b@c%ﬁwmwﬁm%

352

X—
0410

a, b T c F A al il 1%, 2% Efa:n 3% Eﬁr gi%:-:n %, qu-r Sk LR —

3b2 TR B
If a physical quantlty 1e X =-

C. ~and the percentage errere 11'1 the
"meaeurement of a, b and ¢ are 1%,
maximum pereentage error in the meaeur

2328
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11. s gAaq O T ) U qeq Bl T E|111‘Fr T gl\, CH6'1 Eﬁr eilfélw Ty % ferg
3M999% G F i 3

Explam the motion of a vehicle on a level circular path and give the formula for
maximum velocity.

12. T9RT % 96 ®9 & FRar 2o Rve afsre oot @ a3 FW @ gRe S 2 3

Show that mechanical energy ‘of a freely falling body justifies the law of
conservation of Meehameal Energy

13. Weﬁvwzﬁrﬁwﬁﬁme@rﬁmwwmmﬁm| | 3

State the law of eeneervatlen of ﬂnguler Mementum Explam 1t by giving any
one cxample.

14. g?zﬁ@rfﬁﬂg%whzﬁrwwaﬁﬁm- i ] 20

Obtain the formula for the eseape veleelty of a body from the earth.

15. m%ﬁwﬁmﬁmwwﬁng %

With help of etreee etram curve explam 11m1t ef elasticity, yield point.

16. WWW%?%W@W%WW FE 025 kg%lﬂ'ﬂ'ﬁ@lﬁaﬁw
H@él?ﬂﬂ%wmaﬂﬂﬁmﬁziﬁﬂs%gﬁﬂﬂﬂmgmwmemﬁl ot

What is s1mp1e pendulum ? The bob of a simple’ pendulum has a mass of
.025 kg. The effective length of the string is 1 metre and time perled 2 eeeend

Calculate the value of aeeelere.tlen due to grav1ty (g).

17. a:ﬁ & fr eﬂue:r EEFF-LT P Fr‘ltrq ﬁ-rfém ¢ o | , 3

Write laws ef £ raneveree Vlbretlens ef a Stretched Strmg

(a°ra‘ Gﬁ'ﬂtr %)
(Leng Answer Type Questlnns)

S ey -

18. Qﬂsmwﬁ%gﬁq%ﬂﬁ%ﬁﬁ@rezﬁmwuaﬂ%%w%immeﬁw
 FErn qur afeeT W § i : _ 5

‘A projectile is‘thrown at an angle ) frem the horizontal with velocity u under
the gravitational field of Earth. Find its -maximum height. attained and the

" horizontal range.
: _
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HYT
OR

THaqE &G ﬂﬁﬁﬂﬁﬂm?a U pUT ThEH &V aﬁWWﬁm%i R Uhl
AETH AT w ¥ ¢ W wEm e AT o 2 e R & SwN ae ket f

S=ut+é—at2 'E?FlTl

Define uniformly accelerated motion. A particle is moving with uniform
acceleration a in a straight path. Its initial velocity is u and final velocity v

after time t..Using calculus method show that S = ut -_b%.atz.

19, Sl & g e B weEd A ¥R W Cp - Cy = R & R B 5
£stablish Mayer's Formula Cp —Cy =R from the first law of thermodynamics.
YT

 OR

AT J A Y T e A e g e W g st
ixplain the work done in an isothermal process and find formula for work.

‘State and prove Bernoulli's thé'_ﬂlfem,.

OR

What do you mean by viscosity ? Obtdin an expression for terminal velocity of
a ball falling in a viscous liquid. _ . e
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